M = 0 & AF S & Al A
2008 &= 20 A LB A
SN EAA
HBCHO ALY
Co smTAsS (Se:ad)
SN EH.S(3) - MEAY - BAS O At ot i HIRS 2
E&H 237,883 248,655 N10,772
SAEH AIE EHI 149,023 124,191 24,832
HEXNES 55,220 55,220 0
olgt&e=X& 47,620 47,620 0
301 et A3 47,620 47,620 0
05 S-2l-eyes2Ea3 47,620 47,620 0
O0l &= 45,920
—J|gs4 200,000& * 14¥ * 128 33,600
—&0= 200,000& * 14Y = 23| 5,600
—sloa a2 g
20,000& * 14Y x 23| x12& 6,720
OBt AZ 50,000& * 34Y 1,700
FOUEFAHX A 7,600 7,600 0
301 Let8 A3 7,600 7,600 0
10 SAIRHIEAZ 7,600 7,600 0
OAZDEFAT AHBY
10,000& * 360 3,600
OZolol ¥ BHEL By
10,000& * 2009 2,000
OMoioe & sSRAEAR 24
10,000& * 2009 2,000
HAF Y SSAIE 22 93,803 68,971 24,832
HAr22] 41,819 38,971 2,848
101 Q1 Hl 31,0831 28,971 2,060
10 JIZHZ22ANHsSE+ 31,031 28,971 2,060
O& A2 9,610
—J|I2= 29,4303 * 14 » 260 7,652
-S54 29,4303 * 19 » 37 1,089
—4E28= 8,741,000& = 0.0994 869
OF0IXXIAE 2l 21,421
== 29,430& * 29 x 290! 17,070
—5d224 29,430& * 29 x 41 2,414
—40 BE= 19,484,000& * 0.0994 1,937
201 LBt AH| 10,788 0 10,788
01 AtR2t2lbl 1,452 0 1,452
Ogddt24| 1,452
— AR EHESE = 121,000& » 12& 1,452
02 3324l 9,336 0 9,336
Odz | 869& * 522|E * 90Y 4,067
OAl & &H| = Xt 2,269,000 2,269
OXtE&ety| 250,000& * 12& 3,000
S3AlA& e 51,984 30,000 21,984
201 LBt AH| 21,984 0 21,984
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ME A A
CPEA O BRAA AP (SH9:8d)
SA - EM .S (S) - NEANY - BAS 0l & 04 i C[InEs
02 232944l 21,984 0 21,984
o222z 2 HA 21,984
—&llea 21,984
EEETETES
1,100,000& * 12& 13,200
2SS S8(8ES) 732,000& * 128 8,784
401 AlEHIZL20HYI 30,000 30,000 0
04 Al&H| 30,000 30,000 0
OSSANE=RA & HE=HFH|
30,000,000 30,000
HY2AHH (=) 88,860 124,464 A 35,604
lHA2AY(=AH) 14,360 14,360 0
EEETIEETS 14,360 14,360 0
203 &S =&l 9,560 9,560 0
01 JI22dPR=&8Y| 6,000 6,000 0
ogd 500,000& * 1H * 12& 6,000
02 &Y R F=EI 560 560 0
OFANAMI(HRAADINEES 25 A
40,000 * 149 560
04 REMSIHRF=EHI 3,000 3,000 0
OFRAN2ELRFAHI 250,000& * 128 3,000
204 M= A 4,800 4,800
IEEEEEE ELL 2,400 2,400
ogE 150,000& = 12& 1,800
OF =Py 50,000& * 123 600
03 SHYR-HE = 2,400 2,400 0
ONMSEHSESFE 100,000& * 2% * 128 2,400
Jl2dHl(&dY) 74,500 110,104 A 35,604
Jl2ZH(=3H) 74,500 110,104 A 35,604
201 B2 d| 39,500 70,004 A 30,504
01 AtR2teld] 32,110 32,597 ANA487
Ooget=8tl 14,000, 000& 14,000
o294 12,050,000& 12,050
ONE1:] 180,000& 180
o=l 5,880,000 5,880
02 23293l 7,390 37,407 230,017
o332z 2 HA 7,390, 000& 7,390
202 044 35,000 34,800 200
01 =LYl 1,400 1,200 200
OJl=zge=d 1,400,000 1,400
02 EHNHI 33,600 33,600 0
OEHNHHI 200,000& * 149" = 128 33,600




